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1 |dbiEE 5.6E+1 55.7
2 | EHFE 2.3E+2 230.0
3 |BFR 6.0E+1 60.0
4 |EHER 1.5E+2 154.0
5 [FEE 3.3E+2 334.0
6 (LB 5.2E+1 51.7
7 |RER 1.7E+3 1,692.0
8 |ZHE 4.5E+2 4497
9 |IHKE 2.3E+1 23.4
10 [BEER 1.5E+2 151.1
11 [BEE 3.7E+2 3720
12 |FEE 3.7E+2 3740
13 |EREAD 1.0E+3 1,034.0
IR RIS
15 |FiaR 1.2E+2 117.4
16 |EIE 5.6E+1 56.0
17 |BINE 6.0E+1 60.0
18 |f@HE 2.5E+2 246.0
19 [LWBYIE 3.1E+2 305.7
20 |[RHE 1.4E+3 1,366.0
21 (KRR 3.8E+2 384.0
22 |ERRR 4.8E+1 48.0
23 |EHME 3.8E+2 380.0
24 |=ZER 8.4E+1 84.0
25 [#HER 1.2E+1 12.0
26 |FRABAT 1.7E+2 168.0
27 | KB AF 3.1E+2 312.0
28 |EER 1.8E+1 17.7
29 |ZRE 2.2E+2 216.0
30 [F0FRLIE 2.6E+2 264.0
31 [EEWE 7.2E+1 72.0
32 |[BRE 2.6E+2 264.0
33 |EWE 2.2E+2 216.0
34 |IEER 6.2E+2 622.0
35 [lwOg 6.0E+1 60.0
36 [EER 5.7E+0 5.7
37 |BIE 1.2E+1 12.0
38 |[BER
39 [EHIR 2.4E+1 24.0
40 [ERR 1.2E+2 119.4
4 [{EER
42 |RigE 2.6E+2 264.0
43 |BERR 8.2E+2 816.3
44 | KpE 1.6E+2 161.7
45 |EIFE 1.1E+2 108.0
46 |[ERER 8.4E+1 84.0
47 |HHER 2.4E+1 24.0
ESE 1.1E+4 1.0E+3 11,8715
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